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Instructions : All questions are compulsory.
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Question Nos. 1 10 8 are very short answer type questions: Each

question carries | mark.

(i) VYR FHE 9 @ 12 7% AT WA ¥ | TS T W 3 IF AWl €1

(AT F Afawen TeR-|E 50 g ¥)

Question Nos. 9 1o 12 are short angwer type questions. Each question

carries 3 marks. (Maximum word-limit of answer is 50 words)

~, WO AR 13 @ 18 7% Geawia v ¥ | vl v ¥ oviniw frwew ¥

TR T W 4 3% safea €| (IW F Afwam w=-whw 75 I= ®)
Question Nos. 13 to 18 are long answer type questions. Each question
has internal choice. Each question carries 4 marks. (Maximum word-

limit of answer is 75 words)
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Question Nos. 19 to 24 are long answer type questions. Each question
has internal choice. Each question carries 6 marks. (Maximum word-

limit of answer is 250 words)
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yA-1.  fes gl = €2
What are Giflen Goods?

1
WR-2- WA O W R R SR T See ¥ (1]
Which type of market is gold and silver market?
1
-3 - fSwsmEt? ()
What is optional money?
-4 - WA E R S an-m 2 [1]
Which is the central bank of India?
-5 VAW HOH QI A (1]

Give two examples of direct tax.

w6+ Hgfera a9 fRd wga ¥ 2 [1]
What 1s balanced budget?

¥VH-7 SR Hge ¥ 341 g ¥ 2 [1]
What i» meant by balance of trade?

uv-8+ W fafm afsd s €2 (1]
Whal is floating exchange rate?

U¥A-9 . FT I€A | w1 I ¢ 2 vwe W fafag) [2+1=3)
What is total production? Write its formula.

u¥A-10 - 3P wfedfiren = A fadread fafarg

Write three characteristics of imperfect competition,

[1+1+1=3]

W11 SRt i T el i i ety (R o) | [1+1+1=3)

Write the difference between excegsive demand and deficit demand
(any three).

ww-12 mmmﬁmnﬁ%wﬁmml -

Explain the relations of marginal Consumption trend and saving trend
ving trend.
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[2+2=4]
Explam the mutual dependence of micro- and macro-economics.

aar
OR

TEF SR @ oRvis g SRR W Sy (B
w0 | )

[1+1+1+]1=4)

Explain the difference between real economics and ideal econemics
(any four).

shwa for wrm =% F feam 2 98 Yo wi faa ¥ ? [2+2-4]

How does the average fixed cost curve look like? Why does it look
like this?

rar
OR

AR Wt S T Sied o T FR feea €2 [4]

How do long marginal cost and average cost curves look like?

e deaae ¥ WO SiaR =G, T S A H G’ F e

% 7 = Ffe| (4]

Explain why all the Jast expenditure in an econemy is equal to the
total factor payment.

aar
OR

gl 291 ¥ Heaw ¥ FEUE ¥ ®T N T WE] W H FO Wi
= fafag)

Write some limits of GDP as the co-ordinate of the welfare of a
country.
v B T Y 3 dewfer TRwm At ?

(4]
What is the alternative definition of currency supply in 1ndia?
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arerar
OR

=it AH F sy wd fafay (FF 9m) | [1+1+1+1=4)

Write the modern work of Commercial Banks (any four).

gA-17¢ T B fadwastl #) fafaw (F% &) | [1+1+1+1=4]

Write the features of the budget (any four).

Hyar
OR

TR TR FY Sawwar 70 et & (R 7)) ?

Why government budget is required (any four)?

YIE-18 - TEE W F IEIEH N A T F Iy fafEe (B 90 | [1+1+1+1=4]
Write measures to correct the imbalance in the balance of
payments (any four).

Jaar
OR

fee fafTa o & o & o dfog (¢ T17) |
Arguc in favour of stable exchange rate (any four).

WA-19 2R F% %1 afEq e St (6]

Explain the indifference curve with diagram.
aar
OR

afE 3TV Y 20 T A TGHT 40 7. € A L, o e rwfcaii
Wt E, & w9 T ¥ w1 gfiadw g ¥ ?

[f the income of the consumer increases fram Rs. 20to Rs. 40 hut the
price remains unchanged, then what changes are there in the budget line?

»

W¥-20 i A e 0 S i ¥ wmen Hifag (FE B ) (6]

Explain the elements affecting dsmand (any six).
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nar
OR
ﬂh*ﬁﬂqaﬂlmtmﬂﬁ‘ﬁmm(m B

Explain the reasons why the rules of demand applied (any six).

[6]
Write the clements affecting supply (any six).

e
OR

R AT A R I TRE?

What does elasticity of supply mean? How is it measured?

[2+4=6)

w1 T ofg e ¥ yaEfeld o —
\ ) Wged ®a @ Afu;
(¥) We Fma | FH? [3+3=6]
What happens when the prevailing price in the market is—
(a) greater than equilibrium price;
(5) less than equilibrium price?
uar
OR

QG qEd Q@ ST e ¥ ST e wiig (R 85) | (6]

Explain the difference beiween normal price and market price
(any six).

2 % Yo fagin @t srered fafeg (A o) | (6]
Write critiques of Keynes's employment thsony (any six).

AT
OR

sy i % v T (Fk o)
Write the causes of excessive demand-(any €80).
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Y :

L
() HE A W fEw e IWr
(i) TN} Wa Pram wRE am
(i) Sfaafa am
(iv) frm e
(v) Er g v =
(vi) FERT B e fea s s
(vii) ST Y
(viir) ¥afarrs

Based on the following information, calculate Personal Income and

Disposable Income :

Items

(/) Net domestic product on factor cost

(if) Exwemal secured net factor income
(/if) Undistributed profit

(iv) Corporation tax

(v) Interest received by families

(vf) Interest paid by families
(v#) Transfer ineome
(vilf)Pepsenalex

8,000
200
1,000
500
1,500
1,200

300

500

Rs. (in-Crore)

TR (FTH)

8,000

200
1,000
500
1,500
1,200
300

500

[3+3=6]
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Frifiea sifwel & =@ fafu g W s ) mom Fif . (6]
e TR (T H)

() ¥ T el - 4,000

(i) Tem - 700

(iif) @™ - 1,300

(v) =™ - 500

(v) I = - 4,000

(vi) W&a wg fafam - 1,500

(vii) % fade fafrdm - 1,000

Based on the following information, calculate National Income by

expenditure method :
Items Rs. (in Crore)

() Salaries and wages - 4,000

(ii) Rent - 700

(iii) Profit - 1,300

(iv) Interest - 500

(v) Consumption expenditure - 4,000

(vi) Gross domestic investment - 1,500

(vif) Net fereign investment - 1,000



